

M<sub>9</sub>

# číslení, odčítání a násobení množin

 křesťan 16.11.  
od do 20.11.

8.11. 8b

## KOMBINOVANÉ PŘÍKLADY

44/10

$$a) \frac{x}{x+1} \cdot \left( \frac{x}{1} - \frac{1}{x} \right) = \frac{x}{x+1} \cdot \frac{x^2-1}{x} =$$

$$= \frac{\cancel{x}}{\cancel{x+1}} \cdot \frac{(x+1) \cdot (x-1)}{\cancel{x}} = \frac{x-1}{1} = x-1$$

 $x \neq -1$   
 $x \neq 0$ 

$$b) \frac{x}{1-x} \cdot \left( \frac{x}{1} - \frac{1}{x} \right) = \frac{x}{1-x} \cdot \frac{x^2-1}{x} =$$

$$= -\frac{\cancel{x}}{\cancel{-1+x}} \cdot \frac{(x+1) \cdot (x-1)}{\cancel{x}} = -\frac{x+1}{1} = -(x+1)$$

 $x \neq 1$   
 $x \neq 0$ 

$$c) \left( 1 - \frac{1}{x^2} \right) \cdot \left( \frac{x}{x+1} - \frac{x}{1} \right) = \frac{x^2-1}{x^2} \cdot \frac{x-x \cdot (x+1)}{x+1} =$$

$$= \frac{x^2-1}{x^2} \cdot \frac{x-x^2-x}{x+1} = \frac{(x+1) \cdot (x-1)}{x^2} \cdot \frac{-x^2}{x+1} = -(x-1)$$

 $x \neq 0$   
 $x \neq -1$ 

$$d) \left( 1 - \frac{4}{x^2} \right) \cdot \left( \frac{2x}{x-2} + \frac{x}{1} \right) = \frac{x^2-4}{x^2} \cdot \frac{2x+x \cdot (x-2)}{x-2} =$$

$$= \frac{x^2-4}{x^2} \cdot \frac{2x+x^2-2x}{x-2} = \frac{(x+2) \cdot (x-2)}{x^2} \cdot \frac{x^2}{x-2} = x+2$$

 $x \neq 0$   
 $x \neq 2$

44/11

$$a) \left( 1 + \frac{2}{z} + \frac{1}{z^2} \right) \cdot \frac{z}{z+1} = \frac{z^2 + 2z + 1}{z^2} \cdot \frac{z}{z+1} =$$

$$\frac{(z+1)^2}{z^2} \cdot \frac{z}{z+1} = \frac{z+1}{z} \quad \begin{matrix} z \neq 0 \\ z \neq -1 \end{matrix}$$

$$d) \left( 1 - \frac{6}{z} + \frac{9}{z^2} \right) \cdot \frac{3z^2}{3-z} = \frac{z^2 - 6z + 9}{z^2} \cdot \frac{3z^2}{3-z} =$$

$$= \frac{(z-3)^2}{z^2} \cdot \frac{3z^2}{-3+z} \text{ "konst." } = -3 \cdot (z-3) \quad \begin{matrix} z \neq 0 \\ z \neq 3 \end{matrix}$$

44/12

$$b) \frac{x}{z-x} \cdot \left( \frac{x}{z} - \frac{z^2}{x} \right) = \frac{x}{z-x} \cdot \frac{x^2 - z^2}{x} = \frac{x}{z-x} \cdot \frac{(x+z)(x-z)}{x} =$$

$$= -(x+z) \quad \begin{matrix} x \neq z \\ x \neq 0 \end{matrix}$$

$$c) \left( \frac{xz}{x+z} - \frac{x}{z} \right) \cdot \frac{z+x}{x^2} = \frac{xz - x \cdot (x+z)}{x(x+z)} \cdot \frac{z+x}{x^2} =$$

$$= \frac{xz - x^2 - xz}{x(x+z)} \cdot \frac{z+x}{x^2} = -1 \quad \begin{matrix} x \neq -z \\ x \neq 0 \end{matrix}$$